T. Anderson

Total # of ProRated
Expense Attendees Expense

Total T. Anderson NIL

### B. Clark

	Total Expense			roRated xpense
Mileage January - December, 2018			\$	154.77
Total B. Clark			\$	154.77

# C.Collins

	Total Expense		# of Attendees	ProRated Expense	
Meeting Expense Glendale Pub January 22, 2018	\$	33.84	2	\$	16.92
Meeting Expense Bedrock Bistro January 28, 2018	\$	19.73	2	\$	9.87
Meeting Expense Bedrock Bistro March 9,	\$	31.72	2	\$	15.86
Stoney Creek Chamber of Commerce Luncheon Liuna Gardens March 23, 2018	\$	50.85	1	\$	50.85
Meeting Expense Glendale Pub April 24, 2018	\$	44.15	4	\$	11.04
Meeting Expense Glendale Pub August 24, 2018	\$	30.46	2	\$	15.23
Meeting Expense	\$	49.13	2	\$	24.57

August 8

Dim Sum

& Sushi

October

31, 2018

### Appendix "B" of Report FCS19014 Page 5 of 37

	 Total Expense		# of Attendees	ProRated Expense	
Meeting Expense Glendale Pub	\$	239.19	14	\$	17.09
December 17, 2018					
Meeting Expense Glendale Pub	\$	52.40	3	\$	17.47
December 17, 2018					
Meeting Expense Glendale Pub	\$	125.48	8	\$	15.69
December 18, 2018					
Meeting Expense Village Restauran t	\$	96.67	5	\$	19.34
December					
19, 2018 Mileage January - December, 2018				\$	1,589.67
Total C. Collins				\$	1,803.60

# D. Conley

	Total Expense		# of Attendees	ProRated Expense	
Stoney Creek Chamber of Commerce Luncheon Liuna Gardens March 23,	\$	50.85	1	\$	50.85
Communit y Achievem ent Awards Winona Vine Estates May 17, 2018	\$	67.80	1	\$	67.80
Winona Peach Festival Winona Vine Estates July 27, 2018	\$	110.00	2	\$	55.00
Total D. Conley				\$	173.65

J. Danko

Total # of ProRated

Expense Attendees Expense

Total J. Danko NIL

# F. Eisenberger

	Total Expense				ProRated Expense
Grand Opening 33 Bowen January 22, 2018	\$	46.10	2	\$	23.05
Big City Mayor's Conference Ottawa February 14 - 15, 2018					
Transportation - Flight	\$	680.54			
Transportation - Auto	\$	35.00			
Accommodation	\$	305.87			
Per Diem	\$	45.00		\$	1,066.41
Meeting Expense Thirsty Cactus March 6, 2018	\$	51.29	2	\$	25.65
Women of Distinction Awards Evening Hamilton Convention Centre March 8, 2018	\$	200.00	2	\$	100.00
Meeting Expense Sheraton Loft March 9, 2018	\$	57.81	2	\$	28.91
Love Locke Day Naroma on Locke March 10, 2018	\$	37.69	1	\$	37.69
Outstanding Business Achievement Awards African Lion Safari March 23, 2018	\$	203.40	2	\$	101.70
Meeting Expense West Town Bar & Grill April 5, 2018	\$	32.88	2	\$	16.44
Mayor's Breakfast Liuna Station April 10, 2018	\$	310.75	5	\$	62.15
Meeting Expense Charred Rotisserie House April 27, 2018	\$	40.28	2	\$	20.14

### Appendix "B" of Report FCS19014 Page 9 of 37

Hamilton Community Prayer Breakfast Liuna Station May 1, 2018 \$ 200.00

10

\$ 20.00

	Total Expense		# of Attendees	ProRated Expense	
Meeting Expense The French May 16, 2018	\$	45.48	2	\$	22.74
Community Achievement Awards Gala Winona Vine Estates May 17, 2018	\$	135.60	2	\$	67.80
Glamour In The Hammer 2018 Hamilton Convention Centre May 25, 2018	\$	300.00	2	\$	150.00
Intelligent Communities Forum London, United Kingdom June 1 - 11, 2018					
Transportation - Flight	\$	1,757.12			
Transportation - Auto	\$	325.85			
Accommodation	\$	2,458.08		ф	E 202 00
Per Diem	\$	751.95		\$	5,293.00
Meeting Expense Lopresti's at Maxwells June 14, 2018	\$	84.58	2	\$	42.29
Community Event - Got Sarah's Back Corktown Pub June 16, 2018	\$	45.36	2	\$	22.68
HMCS Sackville AGM Halifax June 28 - 29, 2018					
Transportation - Flight	\$	523.13			
Transportation - Auto	\$	143.45			
Accommodation	\$	187.68			
Per Diem	\$	126.48		\$	980.74
Meeting Expense The Hamilton Club July 11, 2018	\$	137.86	7	\$	19.70
Winona Peach Festival Grand Peach Ball Winona Vine Estates July 27, 2018	\$	110.00	2	\$	55.00

	Appendix "B" of Re				Report FCS19014 Page 11 of 37		
Meeting Expense Fortino's August 9, 2018	\$	17.83	2	\$	8.92		
Meeting Expense Café Limoncello August 25, 2018	\$	68.68	2	\$	34.34		
	Т	otal	# of	Pro	Rated		
	Ex	pense	Attendees	Ex	pense		
Meeting Expense Village Restaurant September 24, 2018	\$	45.36	2	\$	22.68		
Meeting Expense Ben Thanh Viet Thai October 31, 2018	\$	30.48	2	\$	15.24		
Mayor's Luncheon Stoney Creek Chamber of Commerce November 21, 2018	\$	50.85	1	\$	50.85		
Meeting Expense West Town Bar & Grill	\$	27.34	2	\$	13.67		

\$ 8,301.79

December 13, 2018

Total F. Eisenberger

J. Farr

Total # of ProRated

Expense Attendees Expense

Total J. Farr NIL

### L. Ferguson

	E	Total # of Expense Attendees		ProRated Expense	
Staff Retirement Party David Braley Centre April 5, 2018	\$	25.00	1	\$	25.00
S.H.A.R.E Annual Banquet Copetown Community Centre April 19, 2018	\$	50.00	1	\$	50.00
Meeting Expense The Egg & I May 18, 2018	\$	39.71	3	\$	13.24
Staff Retirement Party Waterfront Banquet May 24, 2018	\$	20.00	1	\$	20.00
Ancaster Lobsterfest Ancaster Fairgrounds May 26, 2018	\$	60.00	1	\$	60.00
A Taste of Syria Fundraising Dinner Ancaster Village Church May 26, 2018	\$	25.00	1	\$	25.00
Meeting Expense Coach & Lantern June 4, 2018	\$	252.77	9	\$	28.09
The 905 Band - Under the Big Tent Fieldcote Memorial Park & Museum June 8, 2018	\$	15.00	1	\$	15.00
Tastes of Ancaster Marquis Gardens June 27, 2018	\$	45.00	1	\$	45.00
Staff Retirement Party Liuna Station August 7, 2018	\$	40.00	1	\$	40.00
Diamonds & Denim BBQ Auction Ancaster Fair Grounds	\$	110.00	1	\$	110.00

August 17, 2018

Meeting Expense Hamilton Chamber of Commerce September 14, 2018 \$ 32.49

1

\$ 32.49

# Appendix "B" of Report FCS19014 Page 15 of 37

	Total spense	# of Attendees	ProRated Expense	
Meeting Expense Hamilton Chamber of Commerce October 12, 2018	\$ 32.49	1	\$ 32.49	
Meeting Expense Hamilton Chamber of Commerce November 9, 2018	\$ 32.49	1	\$ 32.49	
Meeting Expense Hamilton Chamber of Commerce December 14, 2018	\$ 32.49	1	\$ 32.49	
Mileage January - December, 2018			\$ 35.42	
Total L. Ferguson			\$ 596.71	

# M. Green

	E	Total # of Expense Attendees		ProRated Expense	
Meeting Expense La Prep January 15, 2018	\$	30.77	4	\$	7.70
Meeting Expense End Zone January 22, 2018	\$	32.47	2	\$	16.24
Meeting Expense The Works January 24, 2018	\$	37.69	2	\$	18.85
Meeting Expense The Works February 2, 2018	\$	40.51	2	\$	20.26
Leadership Course Harvard Kennedy School February 5 - May 20, 2018	\$	2,628.57	1	\$	2,628.57
Reverend John C Holland Awards Liuna Station February 10, 2018	\$	240.00	3	\$	80.00
Taste Buds Cabaret Beth Jacob Synagogue February 21, 2018	\$	45.00	3	\$	15.00
Meeting Expense Ben Thanh Viet Thai Restaurant February 23, 2018	\$	60.68	3	\$	20.23
2018 Ontario Good Roads Association Conference Toronto February 25 - 28, 2018					
Registration	\$	813.60			
Accommodation	\$	619.16			
Per Diem	\$	120.00		\$	1,552.76
Meeting Expense Oak Café March 9, 2018	\$	23.62	3	\$	7.88

Meeting Expense The Works March 9, 2018 \$ 47.10

2

\$ 23.55

### Appendix "B" of Report FCS19014 Page 18 of 37

	E	Total # of Expense Attendees		Pense
CJPAC 2018 ACTION Toronto The Rec Room Toronto March 22, 2018	\$	190.00	2	\$ 95.00
Meeting Expense Basso Pizzeria Bistro March 22, 2018	\$	46.79	3	\$ 15.60
Meeting Expense 541 Eatery & Exchange March 23, 2018	\$	34.05	3	\$ 11.35
Meeting Expense The Coop Hamilton March 31, 2018	\$	74.54	4	\$ 18.64
Meeting Expense Duke's Refresher April 24, 2018	\$	55.33	3	\$ 18.45
Meeting Expense SQ * The Mes Amis Catering July 19, 2018	\$	313.89	20	\$ 15.70
Meeting Expense Mexis September 24, 2018	\$	24.78	1	\$ 24.78
Meeting Expense August 8 October 5, 2018	\$	66.57	3	\$ 22.19
Meeting Expense Papa Leos October 11, 2018	\$	41.73	2	\$ 20.87
Meeting Expense La Luna October 15, 2018	\$	86.69	3	\$ 28.90
Meeting Expense The Harbour Diner October 23, 2018	\$	30.87	2	\$ 15.44
Meeting Expense	\$	142.29	10	\$ 14.23

Narula's November 17, 2018			
National Conference on Ending Homelessness Hamilton Convention Centre November 5 - 7, 2018	\$ 903.15	1	\$ 903.15
	Total	# of	ProRated
	Expense	Attendees	Expense
Taxi January - December, 2018			\$ 30.00
Parking January - December, 2018			\$ 32.00
Total M. Green			\$ 5,657.34

### T. Jackson

	Total Expense				oRated xpense
Meeting Expense Stoneroads January 11, 2018	\$	60.49	2	\$	30.25
Meeting Expense Brassie Pub January 23, 2018	\$	40.00	2	\$	20.00
Meeting Expense Stoneroads January 31, 2018	\$	42.78	2	\$	21.39
Meeting Expense Mesa Mexican February 6, 2018	\$	54.48	2	\$	27.24
23rd Annual Valentine's Day Dance Trenholme Park Bocce Fundraiser Michelangelo's February 9, 2018	\$	350.00	18	\$	19.45
Bishop Crosby's Favourite Charities Dinner Dance Carmen's February 10, 2018	\$	60.00	1	\$	60.00
C.Y.O. Children's Fundraiser Gala Dinner Hamilton Convention Centre February 22, 2018	\$	125.00	1	\$	125.00
A Fundraising Event for Hamilton Health Sciences Foundation Liuna Gardens March 3, 2018	\$	130.00	2	\$	65.00
Good Shepherd Jazz Up The Winter Blues Ancaster Mill Marche 5, 2018	\$	300.00	2	\$	150.00
Meeting Expense Beaver and Bulldog March 7, 2018	\$	54.00	2	\$	27.00
YWCA - Women of Distinction Awards Evening	\$	100.00	1	\$	100.00

Hamilton Convention Centre March 8, 2018

### Appendix "B" of Report FCS19014 Page 22 of 37

	Total Expense		# of Attendees		oRated xpense
Meeting Expense The Brown Barrel March 11, 2018	\$	55.84	2	\$	27.92
Staff Retirement Party David Braley Centre April 5, 2018	\$	50.00	2	\$	25.00
Hamilton Health Sciences - The Heart is Magic Fundraiser Michelangelo Banquet Centre April 25, 2018	\$	200.00	2	\$	100.00
Dr. Bob Kemp Hospice - Paint the Town Red Michelangelo's May 3, 2018	\$	150.00	1	\$	150.00
Meeting Expense The Honest Lawyer May 3, 2018	\$	44.15	2	\$	22.08
Hamilton & District Ostomy Association 50 Years Celebration Marquis Gardens Banquet Centre May 11, 2018	\$	60.00	2	\$	30.00
Staff Retirement Party Waterfront Banquet May 24, 2018	\$	20.00	1	\$	20.00
Festitalia Hamilton Michelangelo's Banquet Centre June 5, 2018	\$	80.00	1	\$	80.00
Staff Retirement Party Tim Horton's Field June 21, 2018	\$	20.00	1	\$	20.00
Staff Retirement Party Leander Boat Club June 21, 2018	\$	20.00	1	\$	20.00
Meeting Expense The Brown Barrel July 11, 2018	\$	34.43	2	\$	17.22
Staff Retirement Party	\$	40.00	1	\$	40.00

Liuna Station August 7, 2018

### Appendix "B" of Report FCS19014 Page 24 of 37

	<u>E</u>	Total # of Expense Attendees		ProRated Expense	
Meeting Expense The Brown Barrel August 18, 2018	\$	40.81	2	\$	20.41
Meeting Expense The Honest Lawyer August 19, 2018	\$	46.92	2	\$	23.46
2018 Cancer Assistance Program Gala Michelangelo's Banquet Centre November 9, 2018	\$	100.00	1	\$	100.00
Celebrates 100 Years of Poland's Independence Canadian Polish Congress Art Gallery of Hamilton November 10, 2018	\$	50.00	2	\$	25.00
Meeting Expense The Brown Barrel November 14, 2018	\$	94.81	2	\$	47.41
Sons of Italy - Citizen of the Year Event Liuna Gardens November 17, 2018	\$	125.00	1	\$	125.00
Meeting Expense The Brown Barrel November 22, 2018	\$	97.59	2	\$	48.80
Meeting Expense Romano's November 28, 2018	\$	94.57	2	\$	47.29
Meeting Expense The Brown Barrel December 5, 2018	\$	65.07	2	\$	32.54
Total T. Jackson				\$	1,667.46

# A. Johnson

Total # of ProRated

Expense Attendees Expense

Total A. Johnson NIL

# B. Johnson

	E			roRated xpense	
Women of Distinction Awards Evening Hamilton Convention Centre by Carmen's March 8, 2018	\$	100.00	1	\$	100.00
Mileage January to December, 2018				\$	4,242.39
Total B. Johnson				\$	4,342.39

S. Merulla

Total # of ProRated

Expense Attendees Expense

Total S. Merulla NIL

N. Nann

Total # of ProRated

Expense Attendees Expense

Total N. Nann NIL

# J. Partridge

	Total Expense		# of Attendees	oRated xpense
Rural Ontario Municipal Association Course Toronto January 21 - 22, 2018 Accommodation	3	349.98		\$ 349.98
FCC Roundtable Shawn & Ed Brewing Co February 23, 2018	\$	16.95	1	\$ 16.95
Outstanding Business Achievement Awards African Lion Safari March 23, 2018	\$	203.40	2	\$ 101.70
Paint the Town Red Michelangelo's May 3, 2018	\$	150.00	1	\$ 150.00
Mileage January - December, 2018				\$ 168.30
Total J. Partridge				\$ 786.93

### R. Pasuta

	Total Expense				roRated Expense
The Sir John A. MacDonald Birthday Gala Scottish Rite Club January 13, 2018	\$	120.00	2	\$	60.00
FCC Roundtable Shawn & Ed Brewing Co February 23, 2018	\$	16.95	1	\$	16.95
Outstanding Business Achievement Awards African Lion Safari March 23, 2018	\$	203.40	2	\$	101.70
S.H.A.R.E Annual Banquet Copetown Community Centre April 19, 2018	\$	50.00	1	\$	50.00
Meeting Expense Valley Charcoal Restaurant July 11, 2018	\$	26.30	2	\$	13.15
Association of Municipalities of Ontario Conference Ottawa August 18 - 22, 2018					
Transportation - Auto	\$	7.00			
Accommodation	\$	507.50			
Per Diem	\$	270.00		\$	784.50
Meeting Expense State & Main November 10, 2018	\$	93.80	4	\$	23.45
Hamilton Conservation Authority Christmas Party Carmen's Banquet Centre November 30, 2019	\$	70.00	2	\$	35.00
Parking January - December, 2018				\$	19.00
Mileage January - December, 2018				\$	1,117.33
Total R. Pasuta				\$	2,221.08

E. Pauls

Total # of ProRated

Expense Attendees Expense

Total E. Pauls NIL

### M. Pearson

	Total Expense				oRated spense
Meeting Expense The Innsville February 2, 2018	\$	48.68	2	\$	24.34
Annual Serbian Hunting Banquet Winona Vine Estate March 3, 2018	\$	40.00	1	\$	40.00
Stoney Creek Chamber of Commerce Luncheon Liuna Gardens March 23, 2018	\$	50.85	1	\$	50.85
Staff Retirement Party David Braley Centre April 5, 2018	\$	25.00	1	\$	25.00
Meeting Expense Tim Horton's April 20, 2018	\$	3.55	2	\$	1.78
HDAA Rental Housing Speaker Event Ticket April 23, 2018	\$	15.00	1	\$	15.00
Hamilton Community Prayer Breakfast Liuna Station May 1, 2018	\$	40.00	2	\$	20.00
Meeting Expense McDonald's May 2, 2018	\$	3.35	2	\$	1.68
Meeting Expense Tim Horton's May 4, 2018	\$	8.33	2	\$	4.17
Meeting Expense The Mule May 14, 2018	\$	74.65	2	\$	37.33
Community Achievement Awards Winona Vine Estate	\$	135.60	2	\$	67.80

May 17, 2018				
Staff Retirement Party Waterfront Banquet May 24, 2018	\$ 20.00	1	\$	20.00
	Total	# of	Pr	oRated
	Expense	Attendees	Е	xpense
Meeting Expense	\$ 8.59	3	\$	2.87
Tim Horton's				
December 20, 2018				
Parking January - December, 2018			\$	3.00
Mileage January - December, 2018			\$	405.35
Total M. Pearson			\$	719.17

# D. Skelly

	Total Expense				roRated xpense
B'Nai Brith Hamilton Sports Celebrity Dinner Hamilton Convention Centre January 29, 2018	\$	305.10	2	\$	152.55
Women of Distinction Awards Evening Hamilton Convention Centre by Carmen's March 8, 2018	\$	300.00	3	\$	100.00
The Heart is Magic Fundraiser Michelangelo Banquet Centre April 25, 2018	\$	200.00	2	\$	100.00
Hamilton Community Prayer Breakfast Liuna Station May 1, 2018	\$	40.00	2	\$	20.00
Total D. Skelly				\$	372.55

### A. VanderBeek

	E	Total # of  Expense Attendees		ProRated Expense	
17th Annual SJ Villa Gala Liuna Station April 27, 2018	\$	200.00	1	\$	200.00
Hamilton Community Prayer Breakfast Liuna Station May 1, 2018	\$	40.00	1	\$	40.00
Total A. Vanderbeek				\$	240.00

# T. Whitehead

	E	Total xpense	# of Attendees	ProRated Expense
Guns and Gangs Summit Ottawa March 6 - 7, 2018 Transportation - Flight Transportation - Auto Accommodation Per Diem Parking	\$ \$ \$ \$	581.10 121.62 233.86 75.00 60.00		\$ 1,071.58
Drives for Lives Interval House Golf Tournament Century Pines Golf Course June 6, 2018	\$	350.00	2	\$ 175.00
Town and Gown Association of Ontario Membership	\$	150.00	1	\$ 150.00
Total T. Whitehead				\$ 1,396.58

M. Wilson

Total # of ProRated

Expense Attendees Expense

Total M. Wilson NIL